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1. Choose the correct answer for each of the following: -  
1. Next balanced interaction in  

N2 (g) + 3H2 (g)                           2NH3 (g), ΔH = - 92KJ: You 

can increase the concentration of ammonia by:  

a. reduce the amount of nitrogen                b. increase temperature  c 

reduce the amount of hydrogen               d. increase pressure  

  

2. By adding  barium chloride solution to sodium sulphate solution ,  deposit 

consists .........  
 a. whit            b . Yellow             c. Blue.            d. Purple  

3. The number of similar Isomers  compound of  C4H10 is ........................   

a. 2               b.4                     c. 6                d. 10  

4.  The compound FeCl2       . .....................................   

a. Paramagnetic and color              b. Diamagnetic and colorless  

c. diamagnetic and color                d. Paramagnetic and colorless .  

5. If a values of equilibrium constant less than (one) it means that .............  

a. the reverse reaction is predominate .  

b. the reaction is complete  and often   momentary  

c. the reactants "s concentration less than the concentration of products.  

d. reverse reaction is predominate.  

6. Deposition of 18 grams of Aluminum 27Al13  by electrolysis of Aluminum   

Chloride AlCl3  , needs quantity Of electricity equal   ...............  Faraday.  

 a. 0.5                    b. 0.1                      c. 0.2                     d. 0.3  
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7. Transition element have electronic configuration (18Ar )4s2, 3d1   ……is 

a scandium           b. vanadium            c.  Mn                  d. copper  

  

8. When adding  lead acetate  to a solution  of................   consists of a 

black precipitate.  

a.  sodium sulphate  b. sodium nitrate  c. sodium phosphate  d .sodium sulphide  

  

9. Interaction in    4NO (g)                  2N2 (g) + 2O2 (g),      ΔH = + 

180kj / mol  . .............. leads to a lack of oxygen gas ratio of the reaction 

medium:  

a. addition to nitric oxide              b. add helium gas to the reaction medium  

c. heating the reaction medium     d.  cooling the reaction medium  

10. Ni(𝑠) + Zn+2(𝑎𝑞) → Ni+2(𝑎𝑞) + Zn(𝑠),  Given the reduction potential of  zinc = − 

0.76 V   and reduction potential of Ni = − 0.23 V The EMF equal .........  

volts  

a. -0.53                  b. 0.175                 c. 0.53                 d. 0.99  

11. Ethyne  gas produces  by adding water to .................  

a. soda lime   b. calcium oxide      c. calcium carbide  d. calcium carbonate  

  

12. the organic compound 1,2,3  -tri-  hydroxy benzene called .................  

   a. ethanol          b.  picric acid            c. pyrogallol            d. catechol  

2. Type the scientific term :  
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 1. Dipping process steel in molten zinc to protect steel from corrosion.  2 

the material mass which have the ability to have or acquire one mole of       

electrons  during a chemical reaction  

3. elements that sub level 3d fills by the electrons sequentially which 

located at the fourth period  of the periodic table.  

4. chemicals that change its color depending on the nature of the  chemical    

medium to detect  the neutralization  point.  

5. the equilibrium  that occurs between molecules of weak electrolytic 

materials and  its ions  .  

6. The amount of material deposited or consumed at any pole directly  

proportional to the amount of electricity passing through the solution.  

7. organic compounds consisting only of the elements of carbon and 

hydrogen . 8. Combination process a large number of small molecules to optain  

a big one have great  mass .  

9. Is the minimum amount of energy that must be gained by a molecule to 

start the reaction at collision.  

10. chemical compound that gives carbon dioxide and iron oxide II by thermal 

decomposition    

11. Electrical amount required to precipitate equivalent mass  of an element .  

12. atomic group derived from corresponding alkane  , the general format is 

CnH2n + 1.  

3. Give reason  
1) car battery works as a cell galvanic  and works as a electrolytic cell  2) 

added fluorspar  when extracted Aluminum from bauxite .  
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3) phenol more acidic than ethanol .  

4) catalyst does not affect the  equilipium in the revisable reactions  5) the 

up normal electronic structure of  chromium , copper for electronic 

structure of the elements of the first series transition .  

6) Indicators used to identify the end point of the neutralization reactions  

7) Identification of basic radical is more complicated than that of acidic 

radicals 8) boiling point of carboxylic acids higher than the boiling point of 

the corresponding  alcohols .  

9) sulphuric acid is added at the preparation of  esters  .  

10) difficult oxidation of manganese ions (II)to manganese ions (III).  

11) used dilute hydrochloric acid to distinguish between sodium carbonate and 

sodium nitrite salts.  

12 ) lead acid battery is the reversible galvanic cell .  

4.Mention one use:  
1. Catalyst in industrial processes.  

2. The salt bridge  in the galvanic cell.  

3. Ethylene  glycol .  

4. Potassium Bermnganat  

5. the natural gas In medreks furnace  

6. Taflon  
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5. How to distinguish between the practical experience of all 

Mmaaly   
 1. iron (II) chloride and iron (III)chloride.  

 2 .ethanol and acetic acid  

3. hydrochloric acid and sulphuric acid .  

4. sodium chloride and sodium bromide   

5. 1. bropanol and 2. bropanol  

6. By Balanced chemical equations show how do you get :  
 1. iron II hydroxide from Iron III hydroxide   

2. iron III oxide from  iron  II  Oxalate  

 3 . Black Carbon from sodium acetate.  

4. iron II sulfide from magnetic iron oxide.  

5. ethylene glycol from ethanol .  

6. ethyl  acetate ester from  ethanol.  

7. Toluene of benzene.  

8. phenol from acetylene.  

7. Problems :   
1. Calculate the time required for the deposition of 5.4 grams of silver by 

passed an electric current 9.65 amperes in Silver  Nitrate solution  

(Ag = 108)  ( if the reaction at the cathode equation :   Ag + + e-                

 Ag 2.  Calculate the volume of water necessary to add to the 200 

milliliter of  sodium hydroxide solution 0.3 mol/l  to  convert it to 0.1 mol/l  

solution.   
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3. A sample of  9.56 gm of hydrated cobalt chloride salt (𝐂𝐨𝐂𝐥𝟐. 𝐗 𝐇𝟐𝐎) is heated 

strongly till mass 5.24 gm, find the % of water of crystallization of hydrated cobalt 

chloride and the chemical formula of hydrated cobalt chloride  (Co = 60, Cl = 35.5, 

H = 1, O = 16)  

  

4. by passing the current intensity 7 A in a solution of nitrate one of metals for 

a period of time of 4 minutes. If the cathod mass befor  passage of electric 

current 12 gm and became and after the passage of electric current 13.88 gm 

.  

calculate the 𝑒quivalent mass of this element .  

  

5. Solution of acetic acid concentration of 0.5 molar with  ionization degree 

3%. Calculate the value pOH for this solution.  

  

6. Calculate the mass of deposited copper on the cathode when the passage of 

electric current intensity of 10  A for half an hour during the copper II 

sulphate  (Cu = 63.6.)   

  

7. Calculate the concentration of ion {OH-}[ Note that  the solution 

concentration  is equal 3x10-7  mol/l  

  

8. Following reaction occurs in the galvanic cell : -  

Ni +2 aq . + Fe s                       Fe+2 aq. + Ni s  



 

 

 

Secondary School   Chemistry   
  7   

Mr.  Amir Eskander   50  questions of chemistry 
    

  

Calculate the emf  that knowing that the reduction potential of Iron and nickel 

are respectively ( -0.4 , -0.23 )V  

  

8. Calculate the degree of solubility of   silver sulphate Ag2SO4 in the water if 

you know that the product of solubility ( Ksp ) equal to 1.4 × 10-4  

  

8. What is with all of the following: -  
1. Markownikoff’s rule.  

2. The electromotive series of elements.  

3. standard hydrogen electrode  

4. catalytic activity of the transition elements  

5. the law of mass action  

6. the faraday  

  

9. Mention the role of all the world , which follows the progress of chemistry   

1. Ostwald .    

2. kekule .  

3. Goldberg and Waag .  

4. Wohlr  

5. Markownikoff  

6. Le Chatelier  
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